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 1שאלה 

 1.5x.  א

 ק"מ 18ב.  

 

 2שאלה 

 B(3,6)   ,   A(1,2)   א.

 D(-5,0)  ב. 

 · -3 = -1 הוכחה:     ג.
1

3
 = MBm·MAm 

 אינו משיק. DBד.  

  ABD▵S  =10 ה. 

 

 3שאלה 

 P = 0.4   א.

 = P ב.  
4

19
 

 משתתפים. 95  .1ג

  P = 0.224 .2ג

 

 4שאלה 

 הוכחהא. 

 הוכחהב. 

 AB = 18ג. 

 

 



 
 

 

 5שאלה 

 AC = 8    .א

 BC = 6.993   ב.

 BMD = 110.116°∢  ג.

 ABF = 72.444°∢ד.  

     ∢AFB = 85.556° 

    ∢BAF = 22°             

 

 6שאלה 

± ≠ x    .א
1

2
 

 max (0 , b-4)  .1ב

− > x  תחומי עלייה:.  2ב
1

2
− x < 0 >   או   

1

2
  

 < x תחומי ירידה:        
1

2
 > x > 0או      

1

2
 

 b = 2    ג. 

 = x  אסימפטוטות אנכיות:.  1ד
1

2
    ,x = −

1

2
 

 y = 2אסימפטוטה אופקית:         

 .2ד

  

 IIה.  גרף 

 S = 3.2  ו. 



 
 

 

 7שאלה 

 x ≥ -18 .  א

  (18,0-) , (0,0).  ב

 max (-18,0)  ,  (min (-12,-12√6  .ג

 ד.

 

   min (-18,0)    ,max (-12,24√6)  .1ה

6√ 529.089.  2ה =216 = ABO▵S 

 

 8שאלה 

 t = 3.  א

 24ב. לא יתכן, כי השטח המקסימלי הוא 


